Final Exam Review - SOLUTIONS —56 32 0

1. {0,1,2,3,4,5,6,7,8,9} B
2. gix)=—(x+3)2 '
3. [-3,4) —48 -16 -3
4. (e l] 29. (2,1),x=2;
5- {_4: CD:I Pl(31 O)’ Q‘(OI _3)
6. vertical_stret.ch X2, translation left 1 30. y=4x'—dx-4
7. translation right 1, and up 5 2
3l y=-3x"-Z2x+4
8. flxi= 32. $26; 1,718 drills
33. 1,000 units; $900
-1 _ -1 _ ’ 3
13' 15 (x) = 4(x+ 5) or g7 (x) = 4x + 20 34. 4.23 seconds
T, 35. +5i-/6
11. —7 36. T+ &
» c = 1.50d + 34.00 37. 6-5ia6
Y
o= 2.504 + 26.00 38. ng _
b 8 39. =T+ 4i
13. dependent jg ;4;?53
14. mconswten;5 42 12
o+ = .
15. - 15 adults, 60 children 43. 44+ 1
_ 4 44. 9
16. (0, 3) 45, x=-9,x=-10
17. (-2,-1) 46. x=9,x=4
18. no solutions 47. x=8,x=-4
19. (=2,-3,-2) 48. x = —g, X = -4
20. (-3,2,-5) _ _
21. (-4,-5,-1,-4) 49. x= “/f’ x=/3
22. Let x = the number of vanilla cakes. 50. x=—2x=9
Let y = the number of chocolate cakes. 51. x=-2,x=-18
. . .
8 52. x=—5i,x= 5i
. 7 7
xey €25 53. y=(x+ 3¢ -5
54. y = -2(x+ 20" - 3
= 10 55 y=x2
zj g1ax2|mum value at (7, 0); 28 56. y=|x|
9 57. Tx+y=17
25. z=-5,x=-3,p=100r-10 : :
[ 58. y= —2x + 16
s |10 11 SRR -
: 7 1 59. y=2x-11
. 60. y=6
~ 61. y=4
27, a 11
-4 5 2
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70.
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72,
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74.
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76.
77.
78.
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5
y=3x+42+2
y=-x2-1
—Sx(2x + %)

(x+ T)ix = 9)

(5x + N(x — 4)
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